o(0 @) (rad)

Ratio

SICEWATL

0P /P,

5 [
§ L
810_1:_
S E
107°F
1073 E
101?1l:....!....!....I....I....I.... _9101‘1;:' ! !
LOSE LI T Bl ! & vosf- | {f
1;— «:r gl .’«— 4 E ] -
0952_ i. . : : . 1:—- ‘0‘. Fod .01» a8 ‘r:ln . : NNF.HNNNND
0932 1 0 1 2 3 09232 1 0 I 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—=— DQM_CKF_TTbase
—— DQM_CKF_TT_retrainOldFiles125_v2_prelimWPM_epoch0O
=~ 1=
E .-
=
o>
=2
© :
107 o
1072 N R b Fhel o5 i 107
.910—3: .9105%:|||||||||!||| PP 1 P Y P T
T -1 41 - pe M T E
D: : D: 1:—--- l- - oo - - :4)1> . £ -
0-9;‘"' 0.95F- - il
83— 1 0 1 2 3 0935 1 0 I 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
1:.
107t
0.95F-
02 2 -1 0 T 2 3

TP n (PCA to beamline)



	Contents
	Page 1


